fr MONORACK SPECIFICO - SPECIFIC MONORACK .
MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECIFICO

KAWASAKI ZZR600 '90/'92

ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS

\ INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE )

(__415FK4150 )

o| DESCRIZIONE DEL KIT
INIT| (KIT DESCRIPTION)
(DESCRIPTION DU KIT)

QUANTITA’
(QUANTITY)
(QUANTITE")

MONORACK

2

DADO M &
(NUT M 6)
(ECROU M 6)

RONDELLA 8 6

3 | (WASHER 08 6) 8
(RONDELLE 9 6)
DADO M 8
(NUT M 8) 4
(ECROU M 8)

RONDELLA & 8

(TIRANT ROND PLI)

(WASHER @ 8) 4y
(RONDELLE 9 8)

TIRANTE PIEGA TONDA

(CONNECTING ROD ROUND FOLD) 2

TIRANTE PIEGA QUADRA
(CONNECTING ROD SQUARE FOLD)
(TIRANT CARRE PLI)

SUPPORTO LUNGO
(LONG SUPPORT)
(SUPPORT LONG)

SUPPORTO CORTO
(SHORT SUPPORT)
(SUPPORT COURT)

VITE TCEI M & X 25
(SCREW M 8 X 25)
(VIS M 8 X 25)

DISTANZIALE 8 20 X 10
(COLLAR DISTANCE 8 20 X 10)
(COLLIER DE SEPARATION @ 20X10

VITE TCEI M 8 X 35)
(SCREW M & X 35)
(VIS M 8 X 35)

© Copyright 10112003-Rev02, 'I/U




